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Each form has some advantages and disadvantages that should be well analyzed before a final decision is made. The three methods are good and have worked in many parts of the world but choosing the best option is the challenge. 
IV. Development of Alternative Actions 
Alternative Action 1 
Remaining with a government-operated system of administering airport security 
Advantages 
a. The government ensures that its people are well-protected. It will do anything to guarantee secure flights for the passengers. This is why it came up with the Transport Security Administration after the September 11 accident (National Research Council (É.-U.). & National Research Council (É.-U.), 2003). 
b. There will be minimal financial constraints because the government will be responsible for providing funds that will ensure that all security details are in place (National Research Council (É.-U.). & National Research Council (É.-U.), 2003). 
c. All activities will be under the Federal Aviation Administration that is known for quality control this assures passengers that they will have the best that the government can offer (National Research Council (É.-U.). & National Research Council (É.-U.), 2003). 
Disadvantages 
a. The first disadvantage is in the delays in the implementation of projects. The government has a history of, not implementing all the ideas right in time. There is historical evidence of the slowly run projects that have lead to inconveniences in the airline industry (National Research Council (É.-U.). & National Research Council (É.-U.), 2003). 
b. When funds are not available, there are no alternatives methods of looking for money. It has to be released by the treasury regardless of the delays (National Research Council (É.-U.). & National Research Council (É.-U.), 2003). 
Alternative Action 2: returning to privately owned and operated, contracted airport security organizations 
Advantages 
a. All projects and operations will be successful because of completion from other private firms. The airline will ensure that it has the best products in the market. This explains why the project with San Francisco airport with the federal government was a success. Since it was utilizing a private company, the government had little influence on it. It was focused on customer security and being the best in the market (Ernico et. al, 2012). 
Disadvantages 
a. Financial constraints can affect the security of the organization. This is in case investors are not willing to invest in the business. It could also be the cost of purchasing security equipment that is costly such that the investors cannot afford it (Ernico et. al, 2012). 
b. It is also risky because in case the airline goes down, the government will not be around to offer any backup (Ernico et. al, 2012). 
V. Recommendation 
When the federal government and the private sector are working together, security in the aviation industry will be successful (Zellan, 2003). The San Francisco international airport is a perfect example. It ran a small private company yet the government was a major shareholder. This means advantages form the private sector, and the government-run operations will be combined to form a secure aviation industry. 
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